Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria

Complete Spare Parts List of
Martin Roboscan 1004

200002-000000
212005-000000
218906-000000
220007-000000
222002-000000
226200-000000
226310-000000
243001-000000
245009-000000
245900-000000
245901-000000
246001-000000
246002-000000
247001-000000
265007-000000
265009-000000
265017-000000
270064-000000
300016-000000
300018-000000
305001-000000
308002-000000
309022-000000
309105-000000
316030-000000
316031-000000
319003-000000
319066-000000
319502-000000
319602-000000
336010-000000
337003-000000
337006-000000
339015-000000
339016-000000
339020-000000
339070-000000
340010-000000
344001-000000
345995-000000

8031 NMOS Microprocessor  12MHz
27C256 EPROM

EPROM M1004/1005 (212005)-256 Ver.7
TLP 3042 Zero crossing Opto Triac

7805 5V VOLTAGE STAB.

SN 75176 BP RS485 Transceiver
Stepmotor driver, standard

BTB 24 -600B , 24A Triac

5V1 1/2W ZEENER DIODE

10V Protection device

5V8 Protection device

1N 4148 Diode

1N 4007 Diode

Bridge rectifier 6A/100V

470uF 16V NRSA Electrolytic capacitor, radial
2200uF 25V Electrolytic capacitor, radial
100uF 25V Electrolytic capacitor, radial
100 Ohm 2 Watt Resistor

1x0.127# High flexible red wire

1x0.127# High flexible white wire

Strap, black, 2.5x100mm

Silicon/glas sleeve d=3mm

XLR cable 5m black 3P male-3P female
*Wireset 6x0.127# high flexible 280mm
XLR male 3-pin chassis

XLR female 3-pin chassis

2 Pole terminal block 5mm spacing

Plug 6 pole sil , extension

Plug female angle, wire, 6 pole, yellow
Plug female angle, wire, 6 pole, Natural
Trafo 2x(0-115-126) 24V/13A 10,5V/5A
Fan 115V 4", ball bearing

GUARD FOR FAN 4"

Stepmotor standard large

Stepmotor standard small (micro)
Stepmotor standard small , wire 700mm 125deg
Wire stepmotor 520mm (NMB)

Dip switch Piano type 6 bit DIL

Electret condensor Microphone

Socket halogen lamp G5,3 600 mm wire



346000-000000
350005-000000
351001-000000
360004-000000
360006-000000
360027-000000
361006-000000
361020-000000
363002-000000
363005-000000
363009-000000
363016-000000
363020-000000
374099-000000
374100-000000
375008-000000
375009-000000
375165-000000
376200-000000
376220-000000
376240-000000
380033-000000
392201-000000
392203-000000
392205-000000
392207-000000
510054-000000
600541-000000
810008-000000
845222-000000

Holder halogen lamp

Fuse 4 AT

Fuse holder, half-part

M3x6mm Black

M4x10mm black

M4x5 pinol allen key

3.5mm x 6.3mm Selftap panh. black
4.2mm x 16mm Selftap panh. black
3.2mm x 6 Rivet Black

M3 Star washer black

M3 Washer shiny

M3 Nut black

M4 Nut black

Plasticplate for Roboscan M1004 , small
Plasticplate for Roboscan M1004 big
Lens D=40mm f=60, coated

Lens D=50mm f=100, coated

Objective ,Medium angle, (RoboColor II/111; 17¢)
Mirror for Roboscan with bracket
*Colorfilter roboscan with adaptor
*Gobo for roboscan with adaptor
Handle for bracket 55mm

*Dichr. light blue 101 12.5x14.1
*Dichr. flame red 304 12.5x14.1
*Dichr. fern green 205 12.5x14.1
*Dichr. yellow 603  12.5x14.1

Users manual Roboscan 1004

Objective socket, plastic

*PCB ROBOTRIAC assembly, 24V lamp on/off
*PCB ROBO assembly, 1004/5 w eprom

MWMA436-000000 Fingerscrew Roulet M4 black

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria




